
Installation Instruction
Part#: IB20DAD0A REV: 20150701
Application: For 2007 TOYOTA TUNDAR REG CAB

The instruction here is for your reference only. We strongly recommend the
professional installer for best result. We are not responsible for any damage

caused by the installation. Thank you for choosing our product!

Item Part Name QTY Item Part Name QTY

1 Driver/ Left Sidebar 1 6 Rear Passenger Side Mounting Bracket (RR) 1

2 Passenger/ Right Sidebar 1 7 M8 Hex Head Bolts 28

3 Front Driver Side Mounting Bracket (LF) 1 8 M8 Flat Washers 28

4 Rear Driver Side Mounting Bracket (LR) 1 9 M8Lock Washers 28

5 Front Passenger Side Mounting Bracket (RF) 1

Step Installation Instruction

REMOVE CONTENTS FROM BOX. VERLFY ALL PARTS ARE PRESENT. READ NSTALLATION
INSTRUCTIONS CAREFULLY BEFORE STARTING INSTALLATION

1
Begin installation by working on driver side of the vehicle.

2
Remove plastic plugs on rocker panel to locate mounting holes for bracket. Attach and secure Front and Rear
Mount Bracket to existing holes using M8 X 30mm hex head bolts, 8mm flat washers, and 8mm lock washers.
For each outer hole and hand tighten.

3 Attach Side Tube to Front and Rear Brackets using M10 x 25mm bolts, 10mm flat washers. Hand tighten.
Adjust Side Tube so that it is level and centered, and tighten all bolts to complete the driver-side assembly.

4 Repeat process for driver side of vehicle to complete installation.

Passenger side brackets

TO Protect your investment, wax this product after installing. Regular waxing is recommended to add a protective
layer over the finish. Do not use any type of polish or wax that may contain abrasives that could damage the finish.
For Polish Surface: Aluminum polish may be used to polish small scratches and scuffs on the finish. Mild soap may be
used also to clean the Sidebar.
For black finishes: Mild soap may be used also to clean the Sidebar.

RF

LBRB

LF

Shop for quality APG products on our website. Learn more about running boards and step bars we have.

https://www.carid.com/apg/
https://www.carid.com/running-boards.html

